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ENGLISH LANGUAGE

Directions (76-79) : In the follow-
ing questions, sentences are given with
blanks to be filled in with an appropriate
word(s). Four alternatives are suggested
for each question. Choose the correct
alternative out of the four as your
answer,

76. She had to...... illness in order to
avoid going to the party meeting.
(A) feint (B) feign
(C) faint (D) fain.

77. The publisher is bringing...... a
revised edition of this book.
(A) round (B) out
(C) about (D) up.

78. This is our house and that is......
(A) theirs (B) their
(C) them (D) their’s.

79. Your......nature will aid you in

attaining success in every venture
and undertake.
(A) round (B) persevering
(C) lackadaisical (D) catalytic.
Directions (80-82) : In each of the
following questions,. Four alternatives
are given for the Idiom/Phrase printed in
bold in the sentence. Choose the
alternative which best expresses the
meaning of the Idiom/Phrase as your
answer.
80. He beats about the bush. -
(A) talks sensibly
(B) talks continuously
(C) speak well s
(D) does not talk specifically.
81. Carry out :
(A) bring (B) continue
(C) complete something
(D) to take in. ‘
82. I have taken fancy to this car.
(A) given imaginative touches
(B) revised
(C) developed liking for
(D) improved.

Directions (83-85) : In the follow-
ing questions, a part of the sentence is
bold. Below are given alternatives to the
bold part which may improve the
sentence. Choose the correct alternative.
In case no improvement is needed,
choose ‘No Improvement’.

83. Where are you coming from ?

(A) No improvement

(B) do you come from

(C) were you from

(D) you are coming from.

84. Years ago, I met a man which was
President and Chairman of the
board of a company.

(A) Whom

(B) No improvement

(C) Who

(D) Whose.

85. Covering thirty kilometres in thirty
minutes are not a great distance
using a brand new car.

(A) aren’t a great distance

(B) is no distance

(C) No improvement

(D) is not a great distance.

Directions (86-88) : In the follow-
ing questions, choose the word opposite
in meaning to the given word.

86. Superficial

(A) Genuine (B) Natural

(C) Artificial (D) Amicable.
87. Fragile

(A) Weak ~ (B) Brittle

(C) Strong (D) Discard.
88. Harmonious

(A) Sonorpus (B) Discordant

(C) Concordant (D) Balanced.

Directions (89-91) : In the follow-
ing questions, four words are given in
each questions, out of which only one
word is correctly spelt. Find the
correctly spelt word as your answer.

89. (A) deterriorate (B) deteriorrate
(C) deteriorate (D) detariorate,
90. (A) knowledgeable
(B) knoledgeable
(C) knowledgable
(D) knowledgeble.
91. (A) juvinnile (B) juvenille
(C) juvenile (D) juvinile.



Directions (92-94) In the
following questions, out of the four
alternatives, choose the one which best
expresses the meaning of the given
word.

92. Rectify
(a) clarify (B) condone
(C) correct (D) regularise.
93. Honour
(A) determination (B) courage
(C) respect (D) discipline.
94. Felicitated
(A) admired (B) adored

(C) encouraged (D) congratulated.

Directions (95-97) In the
following questions, some parts of the
sentences have error and some are
correct. Find out which part of a
sentence has an error. The number of
that part is the answer. If a sentence is
free from error, your answer is No error.
95, He finds fault at everything. I do.

(A) No error (B) at everything

©Ido (D) He finds fault.
96. If I will play my best I can win

any day against anybody.

(A) against anybody

(B) I can win any day

(C) No error

(D) If I will play my best.
97. The kitchen need painting badly

and I must get it done.

(A) need painting badly

(B) The kitchen

(C) No error

(D) and I must get it done.

Directions (98-100) : In the
following questions, out of the four
alternatives, choose the one which can
be substituted for the given
words/sentence.
98. Chief or Commander of army

(A) Lieutenant  (B) Major

(C) General (D) Colonel.
99. One who cannot be corrected

(A) ineligible  (B) indolent

(C) indefatigable (D) incorrigible.
100. Put side by side

(A) Juxtapose

(C) Propose

(B) Impose
(D) Depose.
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91 B &1 9@
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77.
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(D) A Td B #1 5 37

= 2 x 200 =T 400
C vd D # Fa 74
= 2)(250:?500
- apvfre sitEa
_ 400 + 500 _ 900
4 T4
= T 225

(B) Feign (Verb) = =1 5e1 ST, =1
Hfyg w1, =M HET (to pretend
that you have a particular feeling or
that you are ill/sick/tired etc.).

(B) Bring out = W&If¥d HTA, e
T (to produce something; to
publish something).

e W AT S —

The band have just brought out their
second album.

(D) 9%l possessive case (their’s) 3
=ea

(B) Persevering (Adjective) =
FqeqgErl, 38, edaw  (showing
determination to  achieve a
particular aim despite difficulties).
(D) Beat about the bush = to talk
about something for a long time
without coming to the main point.
AT W v g —

Stop beating about the bush and tell
me what you want.

(C) Carry out = to do and complete
a task.

T R I —

Extensive tests have been carried
out on the patient.

(C) Take fancy = to attract or
please somebody; to start liking
somebody/something often without
an obvious reason.

(B) @& Present Simple 3 =few)
Where do you come from ? =
Where do you live ?

. (C) Person & fau relative pronoun

‘who’ =1 w317 g1 |
(D) @& @& fafy=a distance/time

W9 %1 3W: singular verb kil PRI
B

- (A) Superficial (Adjective) = Hagl,

fooen, o, s (appearing to
be true; real or important: amﬁual
cursory).



Genuine (Adjective) = real; exactly
what it appears to be.

| arEa Wy el —

87.

89.

91.

92.

93.

9.

95

. (A) Knowledgeable =

When you first meet her, she gives a
superficial impression of warmth
and friendliness.

Is the painting a genuine Picasso ?
(C) Fragile (Adjective) = v,
YO, o, FISR (easily broken or
damaged; weak and uncertain:
easily destroyed or spoilt).

T | wEn 3 —

The economy remains extremely
fragile.

. (B) Harmonious (Adjective) =

(friendly; peaceful and without any
disagreement).

Discordant (Adjective) = 3THTg,
fagTa, 39 (not in agreement).

e o want d —

People expressed discordant views.
Hindus and Muslims live in
harmonious relationship.

(C) Deteriorate = sgal &M (to
become worse).

well
informed.

(C) Juvenile = connected with

young people who are not yet

adults.

(C) Rectify (Verb) = gur1, |
T (to put right something that is
wrong; correct). :

AT | wa 3E —

We must take steps to rectify the
situation.

(C) Honour (Verb/Noun) = 99,
3T (respect; great respect and
admiration for somebody).

(D) Felicitate (Verb) = qYTE <A1
(congratulate).

(B) @&l preposition ==t Ffe 4

97.

98I

76.
4.

78.

79.
80.

81.

82.

83.

8s.

86.

Find fault with somebody/some-
thing = to look for and discover
mistakes.

. (D) 7l = @ auigEn, wges

area ¥ Present Simple 17 If I play
my best 1 541 grm

(A) @&l subject singular &) am:
badly needs painting %1 W4 81|

(C) General = highest in rank;

chief.
fe=dt wrar

(D) sftr =1 a1ef wg & AfF fam i
g w1 3 A FrEen § 1 A &
aref Az & | wEt AT wm ¢ e
Y gw off ‘aram’ Y TE@E

(B) =gaqrd %1 A4 9aH Td HEA gral
2 R v w1 g aren 9 em—
“uw uftsm iR A (smEera’
T I T FFA T

(C) T a1 a1ef ‘gae F e’ #
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